(31—3F)

*, r=h -1+ = SLAT
T % % # = X ORIZIE. BALBNIE
1] [2] [4]

: N 1 BT (1) g s | 25 , |
(f 1] 20 — 3\/6 6 (RF1) a= = 6 (RS9 1) §\/§ cm 6 (F4 1) 7 cm 6

27 2 o M@ B2 m (1) 2
(Fd 2) —+ cm 6 (1) g LR oA ER Y] 8 |mup [ & 8 ) 8 |(M2) guy [P R Hire ] 8
g3 5 - _
(f 3] 9 = J 8 = 6 A( ~1 '3) B =8,05EN0 ., ADFG & ABDG (2B, =5t ABC — DEF OE#H Th 5
fin i 3 ADEF Ol
R4 B LOXE y=max+n Bk, £ZDGF = £ZBGD (@) ----- @® 1
(RS 4) & 6 6x4 X =12 (cm?
33 2wt 0=—3mtn DB = DE=8cm Y 2
P ADEB i1 " SSD = /7500 & > T=MtE ABC—DEF &L
(R 5] = -5 y =3[ 8 INBMEREMELT, - =2m £GBD=ZGED +++-- @ 12x5 = 60 (cm?)
]
| : : 2 £DGBI, E% DB (=345 AACP : AAPB
QG po— - — -
(f# 6] 8 Feor, m:%, n=1 LizdoT, MJEfATH 508 ZDGB = 90° =CP:PB=1:1,
mEH AGED I25U T AABC=ADEF =12 cm? k¥
—- g 1 N l i S
Iﬁ.ﬁgﬁ Q @it{j:, y:gx"‘ 1 & fLJ: /:50 LGEDIQOD = LGDE fAI_:"B =6 cm? -
) =4 E — ABP Ok X
EHHR LG R #B5DT, =, 1
1 ZGDF= ZEDF— ZGDE 65 x> = 10 (cm?)
Rk git 1) L%, — 90° — ZGDE Yo, B IEOERIE
2 £-T LGED=ZGDF --.-- &) 60— 10 = 50 (cm?)
5z, P ,—2), —2QR LV,
E b (P 32 PQ=2Q g ®,® LY ZGDF=ZGBD ----- @
%102:2(%_?“) @ %Y
2HDAVBTNTNELVOT,
hE, BEtHL pP—p—3=0
14 /T
ZHREREWT, P=+TS
144415
D 2 p>1 FiE o, p:%
(Bz) 50 em?®
- B P22)
4‘4 ....................................................... P - (M2 @ 13 em | 6
(52) A1+ V13
____________________ A T 2 & B = |[FF8A
fEl2 . 4 K]
(4 2) a=2 6 (9 3) (:AGPQCD??E).(?;DAG)@&) 6




